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Name: _____________________________  Date: _____________________ 
 
 

Part A 

 

Boom says that his cubes show more. 

 Do you agree? 

Why or why not? 

 

 
 
  

                                            Explain your thinking with objects, words, pictures, or numbers. 
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Part B 

 

Mario thinks 32 is greater than 19. Is he correct? 

Draw and write about tens and ones to explain your thinking 
 

                                            Explain your thinking with objects, words, pictures, or numbers. 

. 

 

 

 

 

 

 

 

 

 

 

     
 

                

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
Timed Extended Constructed Response (ECR) Task—Grade 1                         April 
1.NBT.2-3 

      
 

 

ANSWER KEY 
 

Rubric Part A 
Score Description 

 

 

 

 

2 

Student response includes the following components: 

 

• Computation component = 1 point 

o No, Boom is incorrect  

• Reasoning component = 1 point 

o The student shows work or properly explains how to find the 

correct answer.  

 

Sample Student Response:  

Student writes the value of the base ten blocks under Buzz and Boom. The 

student writes 10+4= 14 under Buzz and 1+1+1+1+1+1= 6 under Boom. 

They then stated that Buzz has more than Boom.  

 

1 Student response includes 1 component from above. 

 

 

0 Student response does not include any components from above. 

 

Rubric Part B 
 

Score Description 

2 Student response includes the following components: 

 

• Computation component = 1 point 

o Yes, Beth is correct 

• Reasoning component = 1 point 

o The student shows work or properly explains how to find the 

correct answer.  

 

Sample Student Response:  

Student draws 30 with base ten blocks and crosses out 20. The student then 

shows how many tens they have left as 1 ten block.  

 

 

1 Student response includes 1 component from above. 

 

 

0 Student response does not include any components from above. 
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